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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source

Vap = \0, 4% volts
b. find the contribution tg4 from the 110V voltage source
Vitoy = 59.2% volts | g/
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2. (10 points)
(a) _i__‘/____

How many meshes are there in the circuit given below.
(b)  Write a complete set of mesh current equations for this circuit below. Put
your equations into standard form.
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ1 - | 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source

Vap = 4,63 volts
b. find the contribution to v from the ilOV voltage source
Vitov = 37.9% volts (p
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2. (10 points) /
(a) How many meshes are there in the circuit given below. 3
(b) Write a complete set of mesh current equations for this circuit below. Put
your equations into standard form. AL
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05
PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS ﬁ (
/
1. (10 points) Using superposition v /
: a. find the contribution to v from the 4A current source [[) .
Vap = -—\7- 23V volts
oo
b. find the contribution to v from the 110V voltage source
Vitoy = __ =41 25V volts
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(a) How many meshes are there in the circuit given below. “
(b) Write a complete set of mesh current equations for this circuit below. Put

your equations into standard form.
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source
Vap = q?’% volts

b. find the contribution to v from the 110V voltage source

Vitov = 220/ volts
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2. (10 points)
(a) How many meshes are there in the circuit given below. &X ‘
(b)  Write a complete set of mesh current equations for this circuit below. Put ‘

your equations into standard form. Youdid mode vettass ,m,o‘t‘
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition’
: a. find the contribution to v from the 4A current source

Vap = L/f) volts

b. find the contrlbutlon t/from the 110V voltage source
Vilov = 46\ QS volts
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for this circuit below. Put

Name :

2. (10 points)

(a) How many mes
(b) Writea complete set 0
your equations into standard form
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introductlon to Circuits and Instruments (4)

MAKE- UPQUIZI : - R 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
: a. find the contribution to v from the 4A current source

Van=__- %53 volts
b flnd the contribution to v from the 110V voltage source
Vitoy = F 3.3V volts
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2. (10 points)

(a) How many meshes are there in the circuit given below. 2=

(b)  Write a complete set of mesh current equatlons for this circuit belovg Put
your equations into standard form :
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05
PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF 0 \}"
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS \l - 7} a9
\l/'\l\wf b (v
1. (10 points) Using superposition b 50 .50
a. find the contribution to\V/f{om the 4A current source -~ ﬁ
Vap = ~- |3~°/|3 volts 7
b. find the contribution to v fp m the 110V voltage source w
viov = __ 779/} . volts ‘
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K=k eshes'y B 1 P
2. (10 points) ‘2 % éshes P‘)B}C _52 sz?
(a) How many meshes are there in the circuit given below.

(b)  Write a complete set of mesh current equations for this circuit below. Put
your equations into standard form.
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
: a. find the contribution to v from the 4A current source
Vapa = \« 537 volts

b. find the contributi/o: to v from the 110V voltage source
Vitoy = .2. \ volts
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2. (10 points) B /

(a) How many meshes are there in the circuit given below.

your equations into standard form.

(b) Write a comple\t;;et of mesh current equations for this circuit below. Put
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source
— £7%
Vaa = b 73 volts

b. find the contribution to v from the 110V voltage source
Vitov = 23 V2 volts
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2. (10 points)

How many meshes are there in the circuit given below.

section:_ /1 £ CWRU e-mail:__' i1

(a)

(b)  Write a complete set of mesh current equations for this circuit below. Put

your equations into standard form. L ) I
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 ' 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
: a. find the contribution to v from the 4A current source

Vgp = L/zé' ? N volts
b. find the contribution to v from the 110V voltage source
Vigoy = _98-92 \ volts
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2. (10 points) \/ \ SU%A‘WL
(a) How many meshes are there in the circuit given below. 2 M"S("’f B
(b)  Write a complete set of mesh current equations for this circuit below. Put

your equations into standard form. )
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using' superposition
a. find the coqtribution to v from the 4A current source

Vap = 2451 , volts
b. find the contributibn tov from the 110V voltage source
Viov = __ 5922 volts
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 A 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED‘ AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the co trq:%uiv to@om the’4A/surrent source
[
11 TV

Vap = volts

b. find the contribution to v from the 110V voltage source
Viov = 7*¢cV volts
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2. (10 points) - S /
e s carmprete set of mesh current equations &?E% gjtb—m put
your equations into standard form. ’(\"' W
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Méshe 0L, ool g L Fh 1y AV, T
Mt 8 ETy oy M@\/j; x 1
(c)_ SOIV%\%?)“ equations for vy and ix.

= Q\‘ﬁm.ﬂ; (/ML) (El'm) < 10 \/
W ohpip 0 e

| g\?\, =] [ /lgw 5 " Pr

-+
\

—\N

S\

_/""__—

‘ o ¥ 4o —apy

1 -
)4V 41 S v ,@ i
b: g . r

Ex # 1y = it

7 -

8%-(’95 ,«\(/P() + ’Y)( %30 _
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CASE WESTERN RESERVE UNIVERSITY
* Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition -
a. find the contribution to v from the 4A current source
Vgp = 7,07 - volts

b. find the contribution to v from the 110V voltage source
Viov = S92 ~_volts

U= (&
4 A skl

. — T +¢:(ﬁ.*ﬁ-}‘ o

: ~ a zoeg— R=?
Lo i o v et

% ‘_ ,IQ ':.:. . ‘2’

+zo = ¢ Cios ;34)

4| §12 Q 20 = ¢ (22)

VAP
;#_..i ‘ L p"{a

> 090999 (10)




Name : X:A\J\Q LeaNegt Section:_(arfb CWRU e-mail._DNLB

2. (10 points) /
(a) How many meshes are there in the circuit given below. 3

(b)  Write a complete set of mesh current equations for this circuit below. Put

your equations into staffidardformm—

mesH T —}ﬁSmEé ?7+ 0. cog 4 =L,
MESH I E‘S‘*‘:\* . ¢3 =0 ‘,‘\9 " (“l* 0.00S"
ML -y =L, T 0 Oy\;\“‘is\) . e
e,‘x\ ;§:
(,*Smh Lot

(c) Solve your equations for vy and iy.
VX =
ix= V.S

(VIERN S
- s x 0
();-f,?,o goooﬁ
— YO + Zoveq, + U, 5O
U‘xx {2400&

&O‘woal);&w:\‘ .03’%-*‘“@‘




Name : /AOV\\'LO redon £ Section:__ () A CWRU e-mail:__al05

CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
: a. find the contribution to v from the 4A current source
Vap = 2.0 \J volts

b. find the contribution to v from the 110V voltage source
Vigov = __12%. 23V volts

4A %3/
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2. (10 points) /é

(a) How many meshes are there in the circuit given below. :

(b)  Write a compilete set of mesh current equations for this circuit below. Put
your equations into standard form.

iA: 6?“!‘3\ Cx:"'(;c,

ele 20y -4 g c@);) Giy-() Oy -2(rCe) = o/

(c) Solve your equations for vy and\ix. . .
Vx = &6-7(y2 \(} " |2 te ’(’{LP;:ZO

Ix=_~5. 114 m A T
(G

- 5y

mw G (-.rg - —2kn (‘5%13:3 = O
: :
UD Clo-ai. - 20

Ch i ,_v o 52
—— \NN——AN (Bl D) -Ater o
ZKQ +8kQ \Q\KJLL‘C,:‘ ‘%{_) \V4

T 40@1(9 gg S 20V u 5.7 mAj
= | =
=

L\ ez
: y. (12,042 -5 TH)mA
Sm vJuﬂA |

CX: ’(;C: “”3:7((‘“‘/\4\
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUI1IZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source

Vgp = %U volts
b. find the contribution to v from the 110V voltage source
Vitov = 272.%5 volts
4 A VRO
s
[0
3120
FO(L \(.O\/

> lfov * 901( -
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2. (10 points) 2 /
(a) How many meshes are there in the circuit given below.
(b)  Write a complete set of mesh current equations for this circuit below. Put

your equations into standard form.
VR

ME S¥ A /- 1
Ve Sel R oY

% \ Mfon )
e Lo V ﬂ‘ ;\)‘(SMA) > den (\)‘;x}
y Jnd /onn '

_ pf Sk -

,Qou 4 g\cntlx\ \/’( OV, DO% 40'4"

(c) Solve your equations for vy and ix.

= |3.5v
Vx iy & /O v - L{ kﬂ»{ Us i",'

= 4,065 rmA Cfoe N>
Y | . "_\{) L/&’ - 12'5 '\/
FoR  (x

*lov s ?W\(}A' - A5V

> Ki\,(t!_{) - ;2’5\/

= Ly Y068 mA
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 - 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

- 1. (10 points) Using superposition
: a. find the contribution to-v from the 4A current source
Varn = _~R¢Y volts

b. find the contribution to v from the 110V voltage source
viiv = __ 8 7. R3 \V/Volts

4A 76

5Q 20
*— - AMNW—e
-+
110V v3100 3120
—e-
7 YRy — -
/2= TIn A SN 052 Rn
24 (& 54 4
b s - e PR
s _3.%2 &7%.&:‘/44 _1,_¢5er /210*’?5‘ *m‘é’)‘a T
I
-3 r SN A"}) ‘Jl"z ¢-3_&-LJ?
» 5 ~ LY 4 A‘/,,g;}




ﬁ?g) /

~a(Clny (8L - cc(@in) = 1200 /e,
i («"%‘ié.)‘z) -~ e (io?j(fz,) =By
—ip (Yk2)+ (1akn) = -2,
L (k5 = -No

o

(p = 7 §C m 4

(7504 )(fkn) 2 i (2kn)= -0y
L‘c, < .?6’/’74
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source
Vaa = g .2 volts

b. find the contribution to v from the 110V voltage source
Viigy = DQ, 23 v volts

4 A




Name : &Aﬁ)gg W Gl

2. (10 points)
(a)
(b)

your equation

bt st S

@ ~4p o~ g\g(w- i8)

A A 50 1 o 8

How many meshes are there in the circuit given below.
Write a complete set of mesh current equations for this circuit below. Put
into standard form.

. Yk

CWRU e-mail;__€a 5>/

v

Section:_w.lE

J@',ic): 0

R

&Ooo A+ GOO0 e — 4000 = ‘J(ﬂ‘/

(©) du(ac-aa) + ¥ue =20 = O
/:\’o—ég:“@ - 12000 4C = ’3*04\

%

(c)

/1
/"
%

Vx= 6s
VY3 mp

— O

Q

Ix=

Solve yo\;Jr equations for vy and ix.

NX= L‘\\«(}(‘. ')35
-\ O ¥ o GO (31(," Do

’ -
2kQ

T a0V 4k

@ -

MW———W

5;} - HOOo*t:‘fO

}(:jc }HUD(J,[C_ - ,Q_b
{@=-0-1 mA
/ Nx = qDUO(\-"&%m(\ -*&O:")\Wmﬂ)
Ny © g 5%
+ 8k
x ()20V
X C
—_ a4 z \

d
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
: a. find the contribution to v from the 4A current source
Vap = 20 volts

/7

b. find the contribution to v from the 110V voltage source
Vitov = 14v volts

b
4A
/
(<)

2+12+55(75

Iz TSRy
. 17
—— [ue) = 24v
2 [2+\2
1z
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2. (10 points) )
(a) How many meshes are there in the circuit given below. Z}ﬁ
(b)  Write a complete set of mesh current equations for this circuft below. Put

your equations into standard form.

o /ZO
(c)  Solve your equations for vy and ix.
x = vV . L
;i= q.zfqu ~bl Ly + HEi, =30

i g tlZEIx 7720

2HELA ~1bkl, = 120
24kis +72k1y = <120
'5(&"‘31‘1 = =240

ty = d. 24 uA

—(pkw 4&(4-2‘7*\/4) =30

Ly = -2 0wk
20V o
i VX :[LXILA>Q
X1 =(fiza +2.14) 4

= 75\

()
S
<
+ )
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Name :

CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering

Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instrtgents (4) 0>°
| b 3/1/05

MAKE-UP QUIZ 1 ‘

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WO F
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS
32 SO
+
o

1. (10 points) Using superposition
\q find the contribution to v from the 4A current sourc%%

7V volts %

’

V4a =
13\. find the contribution t6 v from the 110V voltage source

V‘.
g\;% Vitov = 9,35 V volts
f\g 4 A
N -
‘/\@ T C__\
i \\7 \; U
2 % 5Q
- AW
/% +
Z +
1ov( " v310Q
vllOV
e ®
1z 7
KCL A
—28-14*%10 =

i -8 _ 4 lo
V7 %o 1ao T iao
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2. (10 points) /

(a) How many meshes are there in the circuit given below. 3 mesies

(b)  Write a complete set of mesh current equation'smfor this circuit below. Put
your equations njto standard form s Um - 5 mA = 5.005 A

A -4o+aooo(LA-C5 000(‘»,&"«: =0 :-bx
20001, - 3000Lg -~ 4000U, + 4000Lc = 40

= 2aD00L,-2000Lg + 4000(, = 40

N :
® 2000((p-La)= 0 ><_ ‘\jo _smh M 9

. “le Ly
,&OOOCA +32000L,T 0 ‘o‘é\%mm lO
c - 4000{ic-1,) +8000L-20=0 /S —4000(c + 4000C, +8000Lc = 20

4000 ¢, + 4000t = 40
(c) Solve your equations for v, and ix.

Vy=_—20V L= 3020006
= 0 4000

Ua= 0.00S-Ly =» Uc = 0.005-Lp

Ly =lg = 0.005 A
Le= 0.005-0.005 = 0O
Sm&\; le=0 & x=0 %
— AK + & . s
+——AM———AW o= -l
2k | 48k

o v sk S 20V

ba + .
T o le Ix
4
e V=ULR
Vo = (2000 2)(=C - ()
A ~40 \l + 2000 ((,A-LBB -400()((%- Lc) =0 Vy = (4'000 -57—-3(0- 0.00T f‘i\\
B 2000 (Lg- L) =0 Vx =—20V

C ~ 4000 (VCQ-CD + R000y.-20=0
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source

Vaa = \,D‘\/ volts
b. f/i?ldovt'_"__e C%lzlcli'iiu‘t}on/to v freglltts:he 110V voltage source
T 4A
5Q 20
® M\ f AN ———@
4 - _+ 5 v -
+ RN +
110V 2310 Q §12 Q
_ . 4
1D Uiy =\
5&\"‘" \Q\’L\l l‘o VITT Vv
ZQ\\J)‘\’ \2@)3: \Qn;\l Viwy 50‘ ]_v
“\ = ?2_‘\' ‘\5

S (12t 12)* 1003, = 0oy
Vo2 + SOV =0y
A n\% = \OJL\Z_
\AY Otz iy
| €L
1SQze 4 oYy, = eV
\QAsL

\2_-— O\ZP(
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2. (10 points)
(a) How many meshes are there in the circuit given below. b 7 é

(b) Write a complete set of mesh current equations for this circuit below. Put
your equations into standard form.

B

KLy = 20V

(c) Solve your equations for vy and i
vy = _H0V
= 2.3Tro i\

by "—/'u, )
- ‘A NV
@ \2_: /\x \/

— 4k G- Vv2)= Wy

VX B 20V




Jenniter RisCher
CThA
vaqq




Jennifer Bischer

2) - Hov+ 2x (- 3*« Z\Kﬁ,(l‘-u) O\/ TP‘ w
'ZKﬂ(l 1)=0 \37 SeaA Jonr
V= Bral ‘

2%
—10@4\«&(\_2- VW)t 8\@&(%—9 =0 4

" 4oy = AR ZK(L‘ *Vﬁ |

& 40V ZXa(BraRAY - 2K QEMAN T Ny
Vx: qo\j

Nx ¥ @KQ(’L&B =20V

-85 =20V

Xy~ Gie= 20V
520N 2 B = 25mRA
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CASE WESTERN RESERVE UNIVERSITY
Case School of Engineering
Department of Electrical Engineering and Computer Science
ENGR 210. Introduction to Circuits and Instruments (4)

MAKE-UP QUIZ 1 3/1/05

PUT ANSWERS IN THE SPACE PROVIDED AND SHOW YOUR WORK IF
APPROPRIATE. BE SURE TO STATE ANY ASSUMPTIONS

1. (10 points) Using superposition
a. find the contribution to v from the 4A current source
Vap = __ 10-H2r4y volts

b. find the contribution tg.v from the 110V voltage source
Vigov = ___89.230% | volts

4 A ~
7 42
" L

50 20
*— W\ AM——@
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2. (10 points) /
(a) How many meshes are there in the circuit given below. 3
(b)  Write a complete set of mesh current equations for this circuit below. Put
your equations into standard form.
i I(, - gm”t
R

MehCl LT -Tg) = SnA P

Megh 5 "‘cizl@"'fc) qu(ij!%(;'zﬂl -40=0 l/

MeshCs N T, 7o) +5T4 2030

Te = |2d49m A
154 _
(c) Solve your equations for vy and ix.
Vx = ’2‘?. r”c\/“
ix=__=G5."TH pnv —_— -
X \)K‘: (.Lr3~_(A,\‘L{O~
i\(“ -'A \)X s QQ;H - 03505‘2!5)4000

by~ RS, N V




